woddUIUoA Y

RGPVonline.com RGPVonline.com

F/2017/6324 Total Pages : 8 )
NIGL
THIRD SEMESTER e T i;ﬁ;ﬁa R
MINING AND MINE SURVEYING S
SCHEME JULY 2009 () 4t
MINESURVEYING () amews W
Time : Three Hours Maximum Marks : 100 S Wﬂ :
| ii) The vertical distance of a point below the datum
Note : 1) Attempt total Six questions. Question No. 1 surface is known as
(Objective type) is compulsory. From the (a) Positive RL
remaining questions attempt any five. (b) Negative RL
Tl B: NeT gel DIV 0 3547 1 (TS - . (c) Both(a)and (b)
TR Bl) AFER Bl AT me gl ymr e 9 2 (d) None of these
& Sl ) STeH WX & i 3 i faeg @ seafer @
ii) In case of any doubt or dispute, the English g § gl 8
version question should be treated as final. 2 2 (37) &-Ireed RL
el off srpR & widE ot o & fRufy B : (3) SeveTes RL
IS 79T F W B e H=T STRAT (=7) 3t (o) v ()
1. Choose the correct answer. 2 each (7) 37 & o1 =t
Y TR BT T BT iii) When contours of different elevation cross each
1) The surface tangential to a level surface is said other, it indicates a/an
tobea " (a) Vertical cliff
(a) Vertical surface (b) Saddle
(b) Horizontal surface (¢) Overhanging cliff
(c) Ground surface (d) All of them
(d) All of them
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v) Thestrikelineand direction of full dip are g,
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(a) Parallel to each other
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(%) e (b) Rightangles to each other
() @rdt (c) Both (a)and (b)
() wrert gha (d) None of them
() 37 & et TETEE -3 9T Gt oy Y feem shem
iv) The size of the theodolite is defi dingt (&) TR T R & TAFIR Bt
iv e size of the theodolite is define according to
the s s (3) TR @ R T Bt 2
2 ! . .
i
(a) Diameter of graduated horizontal circle ;:: ;::’ ( )ﬁ (&) & (E[)
3 5 (3) = & P &
(b) Length of telescope 5 5
(c) Heightof the standard = 3 2. a) Whatare the different type of levelling staff? 9
(d) All of them <TafeRT YT & fafirel R -  #9
TSIeATSE BT A (HIZS) B IRIIRT F=A &Pl b) m‘ég Is temporary adjustment? How it js it
% m”-d' T 127 5 v 9
CRAINAY
(a1) amerifea &fdrt =sh o1 %7 HBR feay e
q) I i TR .. _
(3) | 3. 8y What is Permanent adjustment? Describe the
| (_ﬂ') ‘%'__5_&; Eﬁ Gulﬂ-lg tWO—peg method of adjustment. 0
- Rl TSR o 47 Q- -
(®) = A wh M 8? a-J Rftr ¥ wriore oy
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(6)

(5)
b) Describe the methods of interpolation of PR O Safer ATt HITTC
c(mtou;;Taﬁ%ﬁ | 9 i Waﬁ;ﬂ@mww
e 3T & faftwt ot avf i) i) W@wﬁﬁmwﬂﬂéﬂ |
b) Explain the relation of appar ent dip, full dip an
4. a) Show . the features of contour lines of included angle between them. 9
following: ? yefee R, et 2 O O HET 3 A
i) Ridge line and valley line : -
. . FaH Y G|
11) Overhanging cliff |
iii) Hill B - - _ : .
Frerifpa St 3 Toer it zer I~ A 6/1{ Describe the process of repetition method. 9
o P s 2 g Rty a1 e BIRTC)
i) ISt YT U@ it % % b) Describe the vertical angle measurement of
i) wert st 5 5 theodolite. 9
iii) 78T : = SISIATSE & JEAER BIvr 719 R quiey BRI
b) Define subsidence. What are the parameters ,_7/ _
required during monitoring to it? 9 1< a) T\\fotdré)ves commence from a common starting
- point. Une rises at an © gy o
Wl o R AR s i & other dip'° going S30°W, Wy £ E O
BT H AIGUS HTGTD Bkl 8 2 and grade of the true dip? g
5. a) Illustrate the following: 9 gt IR X891 3° Y gpyor ST N6Q°W &t 3R
i) Angle of draw and angle of fracture ST &, 71 ¥ £ 5° 1 oy ayepy g30°W A
ii) Critical and super critical subsidence 3R ST B ¢ Ruar W R g "
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Three borehole A, B and C have been put down
to a coal seam. B is S20°W and C is S 60°W
from A. Horizontal distance AB = 550m and
AC = 350m. The surface level of the borehole
are same. The depth of the coal seam at point A,
B and C are 125m, 175m and 190m respectively.
Calculate the direction and rate of the full dip of
the seam. 0

Ueh Rt T H fi¥ aRaleT A, BTd C el T 81 A
A B & fEem $20°W U C &l Rem S 60°W 1 &ftre
58 AB =550 TAC =350, | aNegiet o Tkl
elaeT Teb T 81 iRfel HiF R fawg A, B dem C&H
TERTS LT 125 1, 175 7). @ 190 1. &1 <0 &
T 30 T QT & & I S il

To sketch the transit Vernier theodolite. 6
gTfeie af-iR eTelase &1 ffd ST
During a fly levelling operation, the following
observation were made: 12
B.S.-0.650, 2.155, 1.405, 2.655, 2.435m

E.S. - 2.455, 1.305, 0.585, 2.405m

The first backsight was taken on a BM of RL

100.500m. From the last backsight it is required
to set four pegs each at distance of 30m on a

falling gradient of a 1 In 100. Calculate the RL
of these four pegs?
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